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Challenge yourself with the trivia questions!
Follow the steps below to start.
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Answer:
California redwood tree

It can reach a height of 380 ft (about 116 m).
That is taller than 20 giraffes standing on
top of one another.

Answer:
false

Frosted glass is translucent.

What is the tallest living

) _organism on Earth?




All planets in our solar system have
moons except Mercury and Venus.

false

§ Popular Canada

About how many times

does lightning strike

Earth in one minute?

Earth is the only planet that

has a moon.
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D. spring force
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Answer:
true

Rivers always flow downhill because
gravity pulls the water downward.

Answer:
B. honey

The rest are structures.

Rivers always
flow downhill.

Which one below does not belong?
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Answer: Answer:

the sun false

The sun is about 400 times bigger than
the moon. They appear to be about the
same size because the sun is much farther
away from Earth than the moon.

Plants grow throughout their lives.

Like humans, plants stop growing

at certain ages. vl
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Answer: Answer:

false C. deciduous tree

Most lakes contain fresh water, but some
are saltwater lakes, like Great Salt Lake
in Utah, U.S.

—————————— —— —— — ]

Whatdo youlcallia'treeithatiloses)its

leavesta ity le

A. autumn tree
B. evergreen tree

C. deciduous tree




B. screwdriver

When snow melts, it becomes water. It

does not disappear.

false
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Answer:
C. a mushroom

This underground mushroom was found
in Oregon, U.S. It is so big that it could
cover almost 1,700 football fields!

Answer:
A. about 5,000 years old

What is the largest living
thing in North America?

A. a tree
B. a blue whale
C. a mushroom

How old is the
world’s oldest living
individual tree?

A. about 5,000 years old
B. about 1,000 years old
C. about 500 years old
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Answer:

B. frictional force

Answer:
C. several days

A light cottonwood tree seed covered in
white, fluffy hair can stay in flight for
several days.

el s |

For how long can a seed be
carried by wind at most?

A. several minutes
B. several hours

C. several days
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Answer: Answer:
a coconut C. about 500 years
Solve the riddle. How long does it take

Iigrow ona palm tree.
I'am hard as a stone.
Inside 1 am white as snow.
What am 1?

for 1in (about 2.5 cm)
of topsoil to form in
nature?

A. about 5 months
B. about 5 years
C. about 500 years
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Answer:
B. 40 years

The Empire State Building held its record
as the tallest building in the world from
1931 to 1971.

In 1931, the Empire State
Building became the tallest
building in the world. For how
long did it hold this record?

A. 10 months
B. 40 years
C. 102 years

Answer:
B. 134°F (about 57°C)

This temperature was recorded in Death
Valley, California, U.S. in 1913.

What is the highest recorded
temperature on Earth?

A. 120°F (about 49°C)
B. 134°F (about 57°C)
C. 144°F (about 62°C)

&
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Answer:
true

There are trees that are taller than a
15-story building.

Answer:

true

A space shuttle travels
faster than sound but
slower than light.




At which point would
less force be needed

Brakes are to cars as
are to passengers

C. seat belts
A. cup holders
B. headlights
C. seat belts
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Answer:
B. 2,000

epeue) Jejndog |’_Vé|

*
About how many stars in the
night sky can you see with
. your naked eye?

A. 2 *

‘B. 2,000 W
C. 2,000,000
*

*
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Answer:

sunlight

Tess waters her plant every few days

and keeps it outside under her

porch where it gets lots of fresh air.

But Tess’s plant is dying. What
might Tess’s plant not be getting
enough of?

- B
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Answer: Answer:

false false

Mushrooms are neither plants nor Earth has always had about the same
animals. They are fungi. amount of water.

Ise

The amount of water there is on
Earth is less than the amount
there was a thousand years ago.

Mushrooms are
plants.

SN
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rainy days than any other place in the

world.
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Answer:
true

Kites and sailboats both use wind to
move.

Answer:

Both structures have six sides.

A kite and a sailboat use the same
type of force to move.

What do the two natural
structures, the honeycomb and
the snowflake, have in common?



a penguin
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Answer: Answer:

true Australia

The leaves of a houseplant move to face a
window, and young sunflowers follow the
daily movement of the sun.

Which continent is the smallest?

Australia
Ang,
arcg,
7 Icq
/"o pe
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Answer:
B. seashells

Seashells were used as spoons and scoops.

In ancient times, what
did people use as
spoons?

A. sharp rocks
B. seashells
C. coconut shells

Sy T~

Answer:
C.1

A stand of oak trees produces

10,000 acorns in the fall. About how

many of these acorns will become
trees?

A. 5,000
B. 200
C. 1

- BN



sky,
ound at the same time.

1'can touch both the

gr
Some people call me “Twister.”
ST

T'move fast.
And the

Answer
a tornado
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